EARAROBEEIERT — 2 N— IBISH —F

2014838158 (£) 2E+L5H

R EEXl

REEFI

[($57E] Fikb

(xwlw | mEmml - |5 5 o s

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . 4 3 | AEL 1:13.3 1-1 38.0 | 84.5 | 1 480 |HEZ (EH)
115/9 TRV > 54.0 (=) (-4) FR (B)
L:7L>FFE2T7+ B:U727A-F BRT U H %S
4 3 | EORE 1:13.3 5-5 37.7| 84.6 | 3 456 | /NE—B ()
2| 77T TIIA 56.0 () o | ) BH
R/ RS vyy B:T7IVT 7 ITRIN— 7Y e s
= 3 | RERKA 1:13.4 7-8 37.7| 8.7 | 7 508 | AFEH (EH)
3 3| TIENTT g 56.0 (1/2) -12) g“lﬂ%ﬂ
R:ZZAYLR BIFHANTHY =AME B
=R 3 | ALREE 1:13.4 7-5 37.7|83.7 | 4 522 | mEEE (EH)
4 4| b—ERXT 127 56.0 7E () | Bl
R:d—IRK7Ya—b B:7 7 RE—b s IEfE
LTS H 3 | SHER 1:13.5 2-3 38.0| 82.7 | 2 540 | AREEL (F#)
58|16 72~ X777~ .0 (7) Gy | B) HBL- A%
RiFATATv— BiAU—TITY> HET7— L
S AisiE :13. - . . REEER (£#)
6 5| ¥Nn—vaU— [B] it 3 i 1(11/32>6 -1 |37.3| 82.3 | 8 (4_3;) %%_%
R:E>r/0704 B:2—T775yI8— +H ®EF
So_= it 3 | JIBE= 1:13.8 2-3 38.3] 80.1 | 12 | 430 |FEEE= (£#)
7/8/15| ¥V =X 54.0 (1 1/4) (g | FOEEEB
R:TFAT B4 L B:ALLT Y YrovA G
= VIS 4 3 | REMR 1:13.9 5-5 38.3| 79.2 | 13 | 444 |/AVEIUTE (&)
811 FXTFRTAY A53.0 (3/4) (+4) |TBEEIE
R:TITRATTaIN BS54 ) X8)L =5 1B
> NS 4 3 | 2MEdEH 1:14.0 9-9 38.2| 78.3 | 11 466 | REEARL ()
9l7l13 AvFaonNso> 56.0 (3/4) (—) |FtEL
LY IINyo - BI7T77—F%— TRELDARS
$) a5 O > # 3 | AETHE 1:14.2 9-9 38.3] 76.5 | 16 | 444 |BEFEEA ()
10/5/10|F—> v~ b E— A53.0 A 1/4) © |FHBBE
LHIRT TR B3I M TF— BERFERS
S QN 43 | HEHXH 1:14.3 13-14 37.4|76.2 | 6 500 | ATTIENE (i)
1Ed 6| A/N-F—KFU—L 5.0 (172 o | BT
:d—IWR7Y2—Ib B:RY—LYyT L &R
> RS 43 | MLk 1:14.3 13-12 | 37.4| 76.2 | 5 482 | REAFIA ()
1000 g | FxA Ny 3> 56.0 (NF) (+4) | EETE
R:FFHATF>d B/ —ZAHYF— HET7—L
. 4 3 | AERFEC 1:14.4 2-2 39.0 | 75.4 | 10 464 | BEFEZ (ERH)
13f 12| VYETA T 5.0 (7€) p |WERTE
L:Zgr T bt =7 —K—FK B:5XMRK—%— =titie
S5 o, 3 = 4 3 | HILFE 1:14.8 15-15 [ 37.1| 72.1 | 9 462 | RER (EiH)
14/|14| F73>3=2h0O 56.0 G 1 o | amms
L:v=24—-3=24— F:F7F>1 iR
A 4 3 | HE-—H 1:15.2 12-12 | 38.4| 68.1 | 15 | 452 | EHEI (E#&)
15112 TXIVT 56.0 (2 1/2) (-8) MEEZE
R:g=Z/¥LLy b B:7X/O72Z wEit ik
S0 4 3 | ABEFN 1:15.8 16-16 | 37.4| 63.2 | 14 | 492 |#EBFEL (Eil)
16 7 AEY Yy hF v 1 L 56.0 (31/2) (=) () FRRIHS
R/ K Svy T B:byTx55 KEET 7 — L
@ 71 L
) 50.2-38.0
NA>Z24 L | 12.2-10.9-12.2-12.6-12.4-13.0
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 9(12,15,16) (1,11) (4,3) (10,13)-5-2(8,6)=14-7
43 —4— (¥9,12) (15,16) (1,4,11)3(10,13)-5(2,8) 6-14=7
[ N3
BB 9 300M 714K 9-11 300M e E 5-6 640M JEHE 3-9-11 3,430
8 B 9 140 3-9 890M B = 9-11 670M B 9-11-3 13,610
1" 160/ 3-11 1,090M B H 9-11 1,360
3 420M

ABICOVWTRDTEEERROODE. TR LIV,




